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Solve: the right triangle. Round declmal answers to the nearest tenth.
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Let <4 be an acute angle in a right triangie. Approximate the measure of
6. cosAd =025

ZA to the nearest tenth of a-degree
18. sind = (.97
cos 4 = 0.G5

13. sind = 0.16 14, tanAd = 1.8
19. sind = 044 20.

18. cosd = 081
24, sinA =0

17. tan4d =84
22, smA=10

22, cosd =10
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21, tand =140



25, Golf The angle of depression from the tee box t©
the green is 10° onvapar 3, 185 yard hole. How
much higher is the tee box than the green?
Round to the nearest yard.

26. Ramp You dre designing a ramp where the
horizontal distance istwice as leng as the
vertical rise. What will be the ramp angle
to the nearest tenth-of a degree?

77. DBridee A survevor needs te find the distance
BC across a lake aspart-of a project to build a
bridge. The distance from point-4 to point 8
is 325 feet. The measurement of angle 4 is 42°
and ‘the measurement of angle B is 110°.

What is the distance BC across the lake to the
nearest foot?

in Exercises 28~ 30 use the following information.

Fireworks You are watching a fireworks display where vou are standing 290 feet behind
the lzunch pad: The launch tubes are aimed directly away from you at an angle of 65° with
the- ﬁround Thﬁ: angle of ¢levation for you 1o see the fireworks is 40°.

{ =5
b 280 — 2
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28. To the nearest foot, what is the nomzontmlstaﬁce from the launch pad to the

e

ignition ;point of the fireworks? f } w {:; -
_)
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30, What is the measure of angle 47

4. Machine Part A machine part is in the
shape of a half-circie with a radius of
10 mches. Small heles are drilled as shown
I tne ﬁﬂur\. Fmd the coordmates of each ho}f-‘
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